NRT/K S/19/5936
Bachelor of Arts (B.A.) Fifth Semester Examination

ECONOMICS (INDIAN ECONOMY —I)
(Optional)

Time : Three Hours] [Maximum Marks : 80

N.B. :— (1) Attempt ALL questions.

3.

4.

(@)

(b)
(©)
(@)

(b)
(©)

(2) All guestions carry equal marks.
(3) Draw neat diagrams wherever necessary.

Explain the defects of agricultural marketing in India. Write the measures adopted by
government to remove them.

OR
Explain the causes for low productivity in Indian agriculture.
State the labour problems in India.

State the causes of unemployment in India. Discuss the various programs implemented to
reduce unemployment.

OR
Suggest the measures to break vicious circle of poverty.

Explain the difference between organised sector and un-organised sector.

Answer the following questions in short (any four) :

(@)
(b)
(©)
(d)
(€)
(f)

Write the causes of population growth in India.

State the difficulties arising in measuring national income.
State the causes of population migration.

Write the features of Maharashtra economy.

Explain the changing structure of Indian economy.

Suggest the remedies on control of population in India.

Answer the following questions in short (any four) :

(@)
(b)
(©)
(d)
(€)
(f)

Explain the importance of industrialization in India’'s economic development.
Explain the concept of Dis-investment.

Write a note on Current Industrial Policy in India

State the merits of globalization.

Explain the causes for decreasing of small scale industry in India

What is public-private-partnership ?
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5. Choose correct options for the following multiple choice objective questions (ALL compulsory) :

(i) Indian economy is more appropriately described as a economy.
() Capitalist (b) Mixed
(c) Socidlist (d) Agricultural

(il) Which of the following migration of population does not change the size of population ?
(a) External migration (b) Internal migration
(c) International migration (d) National migration
(iii) How many types of irrigation are used in agriculture ?
(@ Two (b) Three
(c) Four (d) Six
(iv) The green revolution in India has contributed to :
(@) Inter-regional inequality (b) Inter-class inequality
(c) Inter-crop inequality (d) All of the above
(v) Entrepreneurial behaviour includes :
(8 Solving problems (b) Taking initiatives
(c) Taking responsibility (d) All of the above
(vi) Which of the following industries are to be given compulsory licensing ?
(@ Alcohol (b) Tobacco
(c) Drugs and Pharmaceuticals (d) Above (a), (b) and (c)
(vii) Which of the following is an indicator of poverty in India ?
(@ Income level (b) [literacy level
(c) Employment level (d) All of these
(viii) What type of unemployment is not found in India ?
(@ Structural unemployment (b) Disguised unemployment

(c) Seasonal unemployment (d) None of the above
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NRT/K S/19/5936
Bachelor of Arts (B.A.) Fifth Semester Examination

ECONOMICS (INDIAN ECONOMY—I)
(Optional)
Time : Three Hours] [Maximum Marks : 80
N.B. :— (1) Attempt ALL questions.
(2) All guestions carry equal marks.

(3) Draw neat diagrams wherever necessary.

(wTdr wre)
1. (%) “Ranie Fol FquETRda @ Tee 3. uuERe Q1 g ol YRR el 39
e foreT.
far

(F) ARG o= IcqGhd] HHI JEUITET IRV TS .
(F) ARG QATHSI=AT GHLT T

2. () SRARNS ST HIROT I, SR FHHT HEOEIS @A seredn fafae wefswa wfawy

9t F
far
(&) @ gecEs HsEl U™ .
() "9 9 MU & Tl WIH TAES H.
3. @i geATEl "o ST AT (FIUEl |R)
(31) WRAMI oihEer Fardl hRo s

(9) TS ITUFA HYUMA  IEAAUIIT ISV HI

(F) AHHET TIACTOMET RO 2T,

(3) werrsgr=al I eawdEt ARt foret.

(3) TR Fdaeddicl TATHS TG TISE .

(F) RGN Aehaen FEAvER U e,
4, @A geAE IR e wel A (IS W)

(3N aRarear e feEE SRS Heca TOST &

@) FivfqauE doear T @

(F) AR FdATE e aRemaR A9 foreT

(3) SRR T |,

(3) ARAM oY IANT=GT BETE HOT T H.
(%) rEATH-Eer-9rfie BNt EwE
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5. @i sgudidl awqts years ang wig fast (@ sifrant)

(i) AT sefoEeden sfoem ang Rdm _ sefcgaen weu[A duid dR0Od ST 3R
(31) wisacrarar CREE]
(F) HATSTATG! (3) Foh
(ii) Mg @l TAER DO 38 TAHD Ahae@dl X gacqd @l 7
(31) > TIAAR @) Ifdita =reiaR
() IMAICIIY TAeATAR (3) e TIATAX
(iii) Peimed amoRog o= e g fR smed 7
(3) @F (@ o=
(F) = (3) W
(iv) ARaE 84q i gnrer
(31) STTARITRTIR  SEHTT (@) Srfaxart SrEHE]
(%) srfax dis @ () a8 wd
(v) SIS FdAHe gHIaSe 3R
(31) TEEA e (§) Yerhre uw
(F) SEEE =0 () a8 wd
(Vi) Jeidtes! Sroream Ignmen A wxamn (licensing) Ul RS M8 ?
() = (1) g
(F) Moef T 3weTcaeT () T (), (@) =MT (F)
(vii) G HIUT ARATA TASET gah (Te)) e 7
(31) TS (8) FRear drdet
(F) SR TTdesT () a8 wd
(Viii) AT HIUTCT YehTT=] SIS 3fTéesd ATel ?
(31) TEATCHS TSI (F) g=&= ARSI
(F) BAH TS (8) IR AR
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ECONOMICS (INDIAN ECONOMY—I)

(Optional)

Time : Three Hours]

N.B. :— (1) Attempt ALL questions.

1

3.

4.

(2) All guestions carry equal marks.

(3) Draw neat diagrams wherever necessary.

(R=r wremm)

[Maximum Marks : 80

(3 9Rd H HO {uur & Q0 s HINE | (@YU & @Y gx A B g g grr @l

T YA Ry |
R
(§) 9Rd H PO A IcqGhdl HH BIH h HRY TS DI |
(F) o= # P AT F T AT |

(3 ARG H TAME & FROT AT | S X FA & forg sma # an o fRfeeT swdwn

== I
SEE)
@) T # g TH dsA B T I GATRY |
(@) "eq Td IEUET &7 H HA¥ ' wifeh |
e gedt &1 g8 & s At (@R f Ww)
(3) 9Rd H SAEen gfg & Hreor ok |

@ TEm 3 & M H AT s sfeAaeet aqny |

(F) ITHET TIATLT H BRI QI |

(3) WeRTse & 3rfeyaeyr & fagroam forfed |

(3) YR & sfouawr & TIATHS ufadd w5 dIf |
(F) 9RG H SAEE A 9T Iuy gHTEY |
e gedl # q89 # s @i (FR O =\R)

() IRG & e faew # SfrenfieRer w1 Heca TS @iy |

(¥) fFEe & dFHedqT TsC BN |

(F) 9RG & adEE e Aifg e R
(3) vdldeur & o9 ard |

(3) ¥R H oY IANN H HAT ® HROT TS DI |
(F) TrEWTH-fTs qRe o8 o?
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5. = sgfeedt axgfss el & 3IF@ wiw &1 =aw7 S (@t sfad) .

(i) g rdfeyaear &1 foes avg gl & spefoygwen @Wse} guiw feam mam @
(3) Yuftarar (@) Fr
(F) HATSTATG! () T
(i) JFae & Todaiax e § ¥ e 8 S| J99en & @R deadl T8t 8 7
(31) > TIAA @) 3fdita =reiaR
(F) AT Tt (3) TS TAATAX
(i) F ITA § qHA fER $ geR A g7
() @ (@ o=
(F) TR ) =
(iv) w=a H 8Ra ifd &1 e .
(31) STTARITRTIR  SEHTT (@) Srfaxart SrEH]
(F) AT e SEATA (3) S |
(v) ST & JrRer B ogHEe @ o
(31) THET HT BA (&) Aged HAT
(F) MR oA (3) S |
(vi) Frer & § w9 3w #1 sifraed wxaET (licensing) 37 @ EwIedr g 7
(&) w= (@) dag
(F) &1 wd e (8) ST (1), (§) W (#)
(vii) =1 ® & 9T g @1 e g=@F (indicator) 8 7
(31) I H wWR (@) e
(F) VSR H & (3) SWRIFd gl
(Vi) 9Id ® HFE ghR @ S fewdt 98 g 7
(31) HEATHS SIS (¥) TeuAaT ST
() HrEH SRS () ST ¥ ¥ A8l
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